Durango Silverton Turn Puzzle Description

Narrative:
You and a colleague are the engineers of two K-28, 2-8-2  steam locomotives double headed on a mixed passenger/freight train, and have arrived in Cascade Canyon from Durango. The second locomotive will be required to switch the yard at Cascade Canyon before turning on the wye and heading back to Durango with the freight portion of the train. The first locomotive will continue on to Silverton with the passenger portion of the train.
The second locomotive will be required to set out 4 cars in the yard and pick up 3 others designated for customers in Durango.
The Rules:

· The Mainline has an unlimited capacity west of switch X and east of switch Y. However, there is only room for 6 cars between switch X and switch Y on the main.
· Each leg of the wye between switch Z and the mainline has a capacity of 3 cars.
· Spurs A, B, and C have a capacity of 5 cars each.
· The wye tail track from switch Z to the end has a capacity of 8 cars.
The Puzzle:
With locomotive #2, set out cars 2, 3, 4, and 5 anywhere in the yard.
Pick up cars 12, 13, and 16.

Reassemble your train to head back to Durango. Cars can be in any order, but locomotive #2 must be facing forward with the caboose on the rear. 
With locomotive #1, couple onto the passenger cars and continue on to Silverton.

Upon completion, no cars are to remain on the wye tracks.
